
SAP ABAP table TSEGE {Time Segment Events}

TSEGE

CLIENT [CLNT (3)]

HEAD_HDL [CHAR (22)]

EVEN [CHAR (10)]

EVEN_CNT [INT2 (5)]

EVEN_VERTY [CHAR (1)]

EVEN_VERNU [INT2 (5)]

EVEN_ZONFR [CHAR (6)]

EVEN_ZONTO [CHAR (6)]

T000

MANDT [CLNT (3)] TSEGE-CLIENT = T000-MANDT 0..N

1

TSEGH

CLIENT [CLNT (3)]

HEAD_HDL [CHAR (22)]
 TSEGE-HEAD_HDL = TSEGH-HEAD_HDL 

0..N

1 TTSEGEVTY

EVEN [CHAR (10)]

 TSEGE-EVEN = TTSEGEVTY-EVEN 
0..N1

TTZZ

CLIENT [CLNT (3)]

TZONE [CHAR (6)]

 TSEGE-EVEN_ZONFR = TTZZ-TZONE 

0..N

1

 TSEGE-EVEN_ZONTO = TTZZ-TZONE 

0..N

1


